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ETI“L*E. VS *E_t import random as rd_nu def led88_nu(idx):

D SN Z s D E import number as led8s if idx == 1:
2 I \ . VS *iitiﬁ*i im L random as rdm vp.SetLEDMatrixExt(€!, 24, 8, 8_, 8, 3, '125, 9, .12, '13, .19)
import 5012 as v olif idx == 7:
E IV JILTE = o

1mport 1me - 1
vp.SetLEDMatrixExt (@, 60, 4, 4, 68, 32, 32, 68, 12, 18, 19
( s ) elif de = 3: | )

D N lr while True: . . - .
. vp.SetLEDMatrixExt (@, 6@, 4, 4, 60, 4, 4, 60, 12, 18, 19)
n L . wa o | while b — o elif idx — 4:
L, jb = vp.GetGPIO(7) vp.SetLEDMatrixExt(4, 12, 20, 36, 126, 4, 4, 4, 12, 18, 19)
3 i i elif idx == 5:
8*8Led time.sleep(0.5) vp.SetLEDMatrixExt (0, 60, 32, 32, 60, 4, 4, 60, 12, 18, 19)
AT g MEL 2 print(jb) elif idx == 6:
ELsEs vp.SetLEDMatrixExt (0, 60, 3
dist = 200 s
elif idx == 7:
while dist > 10@: . . - -
st - vp.GetDistance(16, 17) vp.SetLEDMatrixExt (@, 66, 36, 36, 4, 4, 4, 4, 12, 18, 19)
i = rdm.randir t(l m) elif idx = 8:
1ed88.ledb8_nu(1) vp.SetLEDMatrixExt (@, 6@, 36, 36, 60, 36, 36, 60, 12, 18, 19)
/ E=t 78 A e time.sleep(@.1) elif idx == 9:
P 5] vp.Beep(8, 988, 500) vp.SetLEDMatrixExt (0, 60, 36, 36, 60, 4, 4, 60, 12, 18, 19)
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